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1. For the expression 32¥—4)
a) Use an Algebra Tile model to multiply. (pt)

B T2

2 7 = |b6x~2

ﬂ 7

g 12 or e+ 12,

b)Use the Distributive Property to simplify the expression (ipt)

§0-Y) - [ox]

c)How would you explain to a 6th grader why the distributive property works (in problem
like number 3) using the Algebra Tile model (in problem a like number 2)? pr)

Us'er the distributive pro]:e_r{-_g, T muliply 3 by each

‘kerm in":ide the parm-theses SeparcL p 3‘20(_-" 67x cu‘no/

3e=l4 =—12. With algebra tiles, you can see that T end
UP with 3 groups of 2x-Y4 {ﬂﬂi'}. When T make 3 grovps,

L end vp with ~ 6x and -12 |n folal, the same resilt T
ot using the digdributive property .
. Simplify using the Distributive Property (hint: if it helps, draw an rectangle area
picture to help yourself) (2 points)

a 4e19-4ell b, 41150
409"’“) 4(Ciooo + loo+‘50)
4(8)=32 4600 + 400 + 200

L} }——-&——-I_A—H@



3. Use the Distributive Property to solve the following problem. Show your work.

At the grocery store Ryan was finding the mass of peaches. He discovered that the
average mass of a peach was 297 g. Find the mass of 8 peaches. (2pts)

< (ég3c>-g§) The mass of B peaches
2400-24 el P

[z5%)

4, Create a "machine” to help you solve this equation using backfracking. Check your

solution. (2pts) Check
M)*E] ?
3[7[3:;4]_'_6] ‘Z . _+Ii = |
~+11=17
10

+4 =b % 7+ +b
%= _%\23 w2 B> —%@.’i
\ L%/ *\\f (JJE,:‘}H,EEL_J/ by j Cokxlu -1
| ‘>{'_ = (g k w

5. Vocabulary Check. Fill in the blank. epts

a) A CO ﬂS’l.'Cl H‘L is a term that has no variable.

30(2) + 1l =
bt [1]F
[ Ty

b) A mathematical sentence with an equal sign is called a(n) EGVM &"H DN

c) L—-] kﬁ. +€rm3 are terms with the same variables.

d) In the expression: 3X~Y+16 3isthe CO€-¥‘§:fcf QY'\J[

of x.

e) Operations that undo each other are called IVWQY' S€ D,DEY"OCHO ns.

f) Any value or values that make an equation true is called the Sol Ul_'h onN

of the equation.



6. Remove the brackets, being careful to observe the correct order of operations, and
write the answer in its simplest form: (epts)

y H2x~3y)~5+) b) 3b+6{4-2[b- (7+b

H%_g]qjﬁsx =y 3b+b {4~ 2[b 3 b}f
/ "~ zbjj 3b+ é{ b 42D §

&) x(y+8y+3) 2b 4 '“J H i
wut BrYF I e

91&—%3’% |

7. At your birthday you are going to give your friends cupcakes. Let ¢ be the number of
chocolate cupcakes you buy. You plan on giving triple the number of vanilla cupcakes as
chocolate cupcakes and 8 more strawberry cupcakes than chocolate cupcakes. Write an
expression that represents the total number of cupcakes that you will buy. (2pts)

C.+ 3C 4+ CH+HB
5c+8

8. Circle the ordered pairs that are solutions of the linear equation ¥~ —0x+45 onre)

(0,4)

Give another ordered pair that would be a solution.

Various Answers .



/ Solve the following equations using Inverse Operations. Check your solution. (3 points
/ > h c: oint for correct work, 1 point for correct answer, 1 point for correct check step) (Spts)
each: 1 p

F a

18+b _ L TR ~
_-:?:—__25 b.Solve fora: b ‘ c. 2| =17
= . O~CHi=dHC 2]%\ s L
tb_ .-3:25+-3 b . i bldad i Z
S i o M =85
¥ Q=t(d+c) -
grbe T rEe S T
|24+ b-18s~F5 18 5 S d=dv
( K 15+-93 £ i ? . =
j neck 182-28.225 35275 45295, | .
e ————C = (o]
10 Comple're':}:e table of values and graph the function: zp) 12 -8 5] =13 _
: B e
al 3
y:x2*3 \ /
X Y
-2 | — d J -
1 =7 i \\ / t
Q |=3
1 -2
2 | d

ch word problem, define a variable, write an equation, solve the equation using

11. For ea .
erations, and check your answer to make sure it makes sense. (gpts)

inverse op

(4 points each: 1 point for correct variable, 1 point for correct equation,
1 point for correct work/answer, 1 point for correct check step)

a) Olivia wants To buy a car which costs $32,000. She pays a deposit of $14,000 and
then arranges To pay an amount each month for the next three years. How much should
cach monthly repayment be if she wishes to pay off the car in three years?

- %
% | ¢t x = Monthly repaymen A
|2 months /Sea.f‘ - 2l months in 33&0\!& . Y74 3t
¥ m =500

32000~ I4-,000 = 36 my Each mon% P“ﬂ"""* Should-

Chneck. ,

26 (500) = | 8,000
|¢ ooo= |g 60O



b) Ji Won bought 5 cartons of milk and received Rp. 20,000 in change. If he gave Rp.
100,000 to the shop keeper, work out the cost of each carton of milk.

* let % be the cost of a muk carton.

#100,000 =5%= 20,000 20,0004 5X ~20,000 100000
Qg ’l
20,006 + 5% = |00, 600 5—%’ 8__4—-_05900
" Bch mul Carfon costs ] %= 16,000 "
KP- |6 000 *c_}'\_ﬂ__c—‘si Ioé,ooo~ 5(lb, 000 < 20,000
- ' D =720,000

¥
12. Two trains, traveling towards each other, left from two stations that ar%S% km
apart at 6 pm. If the rate of the first train is 150 km/h and the rate of the second train

is 170 km/h, at what time will they pass each other? (zpts)
150k m/h 10O km/h

= — relotive rate
800 km 150
+ 13D
d=rt 32 0 km/h
800:@_{: (Opm-l—Q.E)hi 8:30 pPM

320 320 , = P s
K - S Th L pass each OJCW’_F]
[25=1) J’ Y Biad om.

13. C leaves home going 40 kilome‘re@r_hour‘. When C is 9 km from home, D starts
after C from the same place, going 58 km/h. How long does it take D to catch up with C?
(2 pts)

relahwe vate A=t
58 Y= 18- L
40 TRNT
1B km/h (5= 4 =2 time= 0.6 h

It tokes D 3D minudes o catch up
with C.



Milo's Mile (2pts)

Milo was thinking when he was out running,
"How fast [ am running just might be stunning!"

Five miles an hour is his usual pace,
So it takes him 12 minutes for a one mile race.

"But if I run 6 miles an hour instead,
That's a 10-minute mile!" he did in his head.

Compute Milo's times for running a mile
at speeds 3 to 10 miles an hour, then smile .

And look at the data to help us to see
How the number of minutes changes with speed.

Five miles per hour to six loses two.
Now look at the others - is that what they do?

Or is the change different for other changes in time?
You'll get extra credit if you write in a thyme. (+1)

Five miles per hour to six loses two.
When looking at the others, this is not true.
When computing Milo’'s times.
You will realize that they rhyme.
When he runs 3 miles per houx,
He will run 1 mile in 20 min, not a lot of power
When Milo runs 4,
A 15 min mile, what a bore.
when he reaches the mph of 5.
Milo is, at 12 min, just starting to become alive.
He can get a mile in 10 min at 6,
This is when Milo starts to get his kicks.
When Milo reaches the mph of 7,
He is at B.57 min, almost running to heaven.
Running a mile in 7.5 min, at 8 ®ph
It is time to turn on the power.
When doing the mph of 9,
At 6.66 min, is that fast enough? NEIN!
And finally, when going to 10,
At 6 min, Milo is as fast as a Benz.
So as you can see,
The times are inconsistent to me.



